HW 4.2 (a) Key

i A 1000 par value 17-year bond with 9% semiannual coupons was bought to yield 7% convertible
semiannually. Determine the amount of premium amortized in coupon payment number 8. [7.c #03]
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2. Laura buys two bonds at time 0. Bond X is a 1000 par value 38-year bond with 9.5% annual coupons.
It is bought at a price to yield an annual effective rate of 6.5%. Bond Y is a 38-year par value bond with
5.25% annual coupons and a face amount of . Laura pays P for the bond to yield an annual effective
rate of 6.5%. During year 16, the write down in premium (principal adjustment) on bond X is equal to
the write up in discount (principal adjustment) on bond Y. Calculate P. [7.c #04]
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3. A 1000 par value 34-year bond with annual coupons is bought to yield an annual effective rate of 3.5%.

The amount for amortization of premium in year 12 is 18. The book value of the bond at the end of year
12is X. Calculate X. [7.c #05]

A) 1602 B) 1525 C) 1551 D) 1577 E) 1628

Ley K= Covpon G mound,

Cwen 1ats * ® P= ¥ozmassw + 1000
® P, = (k-35)v> =1\
® Rz =X

Fon @ 2 (X-22H)v =1 — ¥ =7Y4.7]

Se, Biz = T7H. 7\ Azzv.5% r oo v = i\uoz.zq




4. A 17-year bond with semiannual coupons has a redemption value of 100. It is purchased at a discount to

yield 4% compounded semiannually. If the amount for accumulation of discount in coupon number 26 is
0.75, find the amount of discount in the original purchase price. [7.c #17]
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5. A 1000 par value bond bearing 5.5% annual coupons is purchased at a discount to yield an effective
annual rate of 8.5%. The write-up in value during the first year is 8.12. Find the purchase price of the
bond. [7.c #18]
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